Cumulative Algebra Review- Chapter 06

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. The system of equations given by
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has solutions for all values of c EXCEPT

(A) -15     (B) -3     (C) 3     (D) 10     (E) 15
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3. 
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4. 
For what values of n does the following system of equations have no real solutions?
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5. If 
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, then which of the following could be the value of n?
(A) -5
(B) -4
(C) -1
(D) 1
(E) 5

Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

The catering service for the student cafeteria at High Mountain High School serves about 1300 hot meals a day. Every day they prepare a meat dish, a fish dish, and a vegetarian dish. Previous

experience has shown the following:

· Of those who have fish one day, 30% will have vegetarian the next day and 22% will have meat the next day.

· Of those who have vegetarian one day, 31% will have fish the next day and 7% will have meat.

· Of those who have meat one day, 20% will have fish the next day and 6% will have vegetarian.

a. Make a transition diagram and a transition matrix that describe this situation.

b. If catering wants to be absolutely certain that every student will be able to get the type of meal he or she wants, how many extra meals should they prepare on day 1 (the first day of school)?

c. Suppose that on day 1, 774 students eat meat, 350 eat fish, and 176 eat vegetarian. Assuming that the transition matrix is correct, how many meals of each type should catering prepare on day 2 for every student to get the meal they want? How many meals total should they prepare on day 2 to be sure?

d. What is the long-run value for the number of each type of meal catering should prepare each day?

e. How would the answer to part d change if on day 1, 1050 students ate meat, 50 ate fish, and 200 ate vegetarian?
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